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NEW QUESTION 1
Refer to the exhibit.
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Based on the output, which two conclusions are true? (Choose two.)

A. There is more than one SD-WAN rule configured.

B. The SD-WAN rules take precedence over regular policy routes.
C. The all_rules rule represents the implicit SD-WAN rule.

D. Entry 1(id=1) is a regular policy route.

Answer: AD

NEW QUESTION 2
What are two reasons for using FortiManager to organize and manage the network for a group of FortiGate devices? (Choose two.)

A. It simplifies the deployment and administration of SD-WAN on managed FortiGate devices.
B. It improves SD-WAN performance on the managed FortiGate devices.

C. It sends probe signals as health checks to the beacon servers on behalf of FortiGate.

D. It acts as a policy compliance entity to review all managed FortiGate devices.

E. It reduces WAN usage on FortiGate devices by acting as a local FortiGuard server.

Answer: AE

NEW QUESTION 3
Which action fortigate performs on the traffic that is subject to a per-IP traffic shaper of 10 Mbps?

A. FortiGate applies traffic shaping to the original traffic direction only.

B. FortiGate shares 10 Mbps of bandwidth equally among all source IP addresse

C. RIAS

D. Fortigate limits each source ip address to a maximum bandwidth of 10 Mbps.

E. FortiGate guarantees a minimum of 10 Mbps of bandwidth to each source IP address.

Answer: C

NEW QUESTION 4
What is a benefit of using application steering in SD-WAN?

A. The traffic always skips the regular policy routes.

B. You steer traffic based on the detected application.

C. You do not need to enable SSL inspection.

D. You do not need to configure firewall policies that accept the SD-WAN traffic.

Answer: B

NEW QUESTION 5

Which two statements describe how IPsec phase 1 main mode is different from aggressive mode when performing IKE negotiation? (Choose two )
A. A peer ID is included in the first packet from the initiator, along with suggested security policies.

B. XAuth is enabled as an additional level of authentication, which requires a username and password.

C. A total of six packets are exchanged between an initiator and a responder instead of three packets.

D. The use of Diffie Hellman keys is limited by the responder and needs initiator acceptance.

Answer: BC
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NEW QUESTION 6
Which two statements about the SD-WAN zone configuration are true? (Choose two.)

A. The service-sla-tie-break setting enables you to configure preferred member selection based on the best route to the destination.

B. You can delete the default zones.
C. The default zones are virtual-wan-link and SASE.
D. An SD-WAN member can belong to two or more zones.

Answer: AC

NEW QUESTION 7
Refer to the exhibits.

Exhibit A

hklhﬂ]‘ll_!qt # diagnose sys sdwan sercvice

Sarvice (1)t Addreas Mode (IPV4) flags=0x200 use-shortcut-sla
Gan(8), TOS(0x0,/0x0), Protocol(0: 1->655315), Mode (manual)
Hasbara (2) 1
i: Seq num(l portl), alive, seslected
2: Seq_num(2 port2), alive, selected
Internat Service(l): GoToMeeting(42Z94B3696E,0,0,0 1&6354)
Microsoft . Office. )65 . Portal (4254837474,0,0,0 41468) Saleaforce (4294837576,0,0,0 16520)
Src addresa(l):
10.0.1.0=-10.0.1.255

Service (2): Address Mode (IFV4) flaga=0x200 use-shortcut-ala
Gan(7), TOS(0x0/0x0), Frotocol(l: 1->65535), Hode (manual)
Hembera (1)

1: Seq num(2 portl), alive, selected

Src addresa(l):
10:0.1.0-10.0.1.255

branchl fgt # diagnose ays sdwan internet-service-app-ctrl-linst
Facebook (15832 4284836506): 157.240.2259.35 € 443 Tue Mar @ 12:24:04 2022
GoToMesting (16354 4294836966): 23.205.106.8€6 6 443 Toe Mar 6 12:24:04 2022

GoToMeeting (16354 4254836866): 23.212.249.144 6 443 Tue Mar B 12:24:35 2022
Salesforce (16320 42948379760 : 23.212.249.11 & 442 Tues Mar 6 12:24:04 2022

branchl_fgt # get pouter info routing-table all

g 0.0.0.0/0 [1/0] wia 15%2.2.0.2, portl
[1/0) wia 192.2.0.10, portl

Intearnet Service(2): Facebook(4294838806,0,0,0 15832) Twitter(4294838278,0,0,0 16001)
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An administrator is testing application steering in SD-WAN. Before generating test traffic, the administrator collected the information shown in exhibit A.
After generating GoToMeeting test traffic, the administrator examined the respective traffic log on FortiAnalyzer, which is shown in exhibit B. The administrator

noticed that the traffic matched the implicit SD-WAN rule, but they expected the traffic to match rule ID 1.
Which two reasons explain why the traffic matched the implicit SD-WAN rule? (Choose two.)

A. FortiGate did not refresh the routing information on the session after the application was detected.

B. Portl and port2 do not have a valid route to the destination.
C. Full SSL inspection is not enabled on the matching firewall policy.

D. The session 3-tuple did not match any of the existing entries in the ISDB application cache.

Answer: BC

Explanation:
Study guide 7.2 Page 191

NEW QUESTION 8
Refer to the exhibit.
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Membars (3) :

branchl fgt # diagnose sys sdwan service 3

Service(3): Address Mode (IPVA) flage=0x200 use-shortcut-sla
Gan(2), TOS(0x0/0x0), Protocol(0: 1->65535), Mode(priority), link-cost-factor(packet-
losa),; link-cost-threshold({0), heath-check (VFN_PING)

1t Seq num(3 T _INET O 0), alive, packer loss: 2.000%; selescted
2t Seq_num(d4 T_MPLS_0), aliwe, packet leoas: 4.000%, selected

3: Seq pum({5 T_INET 1 0}, alive, packet loas: 12Z.000%, selected

Src addresa(l):
10.0.1.0-10,0.1.255

Dat addresa(l):
10.0,0.0-10.255.255.255

branchl_fgt (3) # show
config service
edit 3

sat name “Corp™
sat mode priority
sat dst “Corp-nat™
set src “LAN-met™
set health-check "VPH_PING"
aat link-cost-factor packet-loaa
sat link-cost-threshold 0
sat priority-membera § 3 4

next
and

The exhibit shows the SD-WAN rule status and configuration.

Based on the exhibit, which change in the measured packet loss will make T_INET_1_0 the new preferred member?

A. When all three members have the same packet loss.
B. When T_INET_0_0O has 4% packet loss.

C. When T_INET_0_0 has 12% packet loss.

D. When T_INET_1_0 has 4% packet loss.

Answer: D

NEW QUESTION 9

What does enabling the exchange-interface-ip setting enable FortiGate devices to exchange?

A. The gateway address of their IPsec interfaces
B. The tunnel ID of their IPsec interfaces

C. The IP address of their IPsec interfaces

D. The name of their IPsec interfaces

Answer: C

NEW QUESTION 10

Refer to the exhibits.
Exhibit A

= Metwork Properties
Soervicn Critical-Dia

= ldentity
Dewviee 1D FCWMO1TM2 2000077
Device Hame branchl_fgt

= Type
Subs Type schwian
Type event

- Alerts
Liwed notice

= General
Log Description SOWAN status
Liog 1D 0113022723
Mesage Service pricritired by performance melric will be redinected in sequence order
Sequence Mumber 21
Wirtual Domain oot

= Others
Dratez/ Tierwe 235729
Destination End User 1D a
Destination Endpaoint 1D 3
Dewice Tieme 2022-03-04 14:57:27
Event Time 164864345647 595 788893
Event Type B
Metric Latency
Service 1D 1
Tirmee Stamp 2022-03-04 23.57:29
Time fone 0800
UEBRA Endpaint 1D a
UEBA User 1D 5
logver 00030237

Exhibit B
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pranchl_fgt # el 8ys sadwan memk
Member(l) : interface: portl, flags=0x0 , gateway: 192.2.0.2; prI , :4, waig
Member (2] : interface: portl, f[lags=0x0 , gateway: 1582.2,0.10, priority: 1024, welght: O
confly service
adit
L nams ELL 31 -DIAR"
mode pricrity
e ¢ "lLAN-nat™
at internec-se enable
¥ T et =2 app=ctrl 1&354 414& 2
et health-check “"Levell DN3*
I ricy-mesbars 3
L 4=
Leand

Exhibit A shows an SD-WAN event log and exhibit B shows the member status and the SD-WAN rule configuration.
Based on the exhibits, which two statements are correct? (Choose two.)

A. FortiGate updated the outgoing interface list on the rule so it prefers port2.
B. Port2 has the highest member priority.

C. Port2 has a lower latency than port1.

D. SD-WAN rule ID 1 is set to lowest cost (SLA) mode.

Answer: AC

NEW QUESTION 10
Refer to the exhibit.
S5 -

A. The type of traffic defined and allowed on firewall policy ID 1 is UDP.
B. FortiGate has terminated the session after a change on policy ID 1.
C. Changes have been made on firewall policy ID 1 on FortiGate.

D. Firewall policy ID 1 has source NAT disabled.

Answer: C

NEW QUESTION 14
Which three matching traffic criteria are available in SD-WAN rules? (Choose three.)

A. Type of physical link connection

B. Internet service database (ISDB) address object
C. Source and destination IP address

D. URL categories

E. Application signatures

Answer: BCE

NEW QUESTION 16
Refer to the Exhibits:
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ExhibitA  Exhibit B

Link Status
Check interval 500 ms

Failures before inactive @ @ 3

Restore link after @ 2 check(s)

Actions when Inactive

Update static route @) @)

Exhibit A, which shows the SD-WAN performance SLA and exhibit B shows the health of the participating SD-WAN members.

Based on the exhibits, which statement is correct?

A. The dead member interface stays unavailable until an administrator manually brings the interface back.

B. Port2 needs to wait 500 milliseconds to change the status from alive to dead.

C. Static routes using port2 are active in the routing table.

D. FortiGate has not received three consecutive requests from the SLA server configured for port2.

Answer: C

NEW QUESTION 17

Which two settings can you configure to speed up routing convergence in BGP? (Choose two.)

A. update-source

B. set-route-tag

C. holdtime-timer

D. link-down-failover

Answer: CD

NEW QUESTION 19

Which diagnostic command can you use to show the member utilization statistics measured by performance SLAs for the last 10 minutes?

A. diagnose sys sdwan sla-log

B. diagnose ays sdwan health-check
C. diagnose sys sdwan intf-sla-log
D. diagnose sys sdwan log

Answer: A

NEW QUESTION 22
Refer to the exhibits.

Exhibit A

IPyec Teonplate Branch 1Psec 1

4 Ol Bew

0 Hame: Type = Outgning Interface =
O HUBLAPNL St 51

IPeec Termplste Branch, |Psec 2
& Creae Mow | BT 1 I More -
O MName: Type = Outgoing Interface ©
0O HUBL-VPNZ Srati shsed

Exhibit B

lrvealid template sssignment - conflictng template scipnment scoe: devics branchl_Fgt, wilam reot, o
_igreer: template [Branch_iPoec_1] and [Branch_iPuec_3]

Exhibit A shows two IPsec templates to define Branch_IPsec_1 and Branch_IPsec_2. Each template defines a VPN tunnel.

Exhibit B shows the error message that FortiManager displayed when the administrator tried to assign the second template to the FortiGate device.

Which statement best explain the cause for this issue?
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A. You can assign only one template with a tunnel of fype static to each FortiGate device

B. You can define only one IPsec tunnel from branch devices to HUBL.

C. You can assign only one IPsec template to each FortiGate device.

D. You should review the branchl_fgt configuration for the already configured tunnel with the name HUB1-VPNZ2.

Answer: C

Explanation:

The error message in Exhibit B indicates a conflicting template assignment. This occurs because FortiManager does not allow the assignment of multiple IPsec
templates that define VPN tunnels with the same name or settings to the same FortiGate device. The conflict arises from trying to assign a second IPsec template
to a device that already has one assigned. References: This is based on Fortinet's best practices and administrative guidelines which state that each FortiGate

device should be assigned a unique IPsec template to avoid configuration conflicts.

NEW QUESTION 24
Refer to the exhibits.
Exhibit A

conflg duplication
edit 1
set srcaddr "10.0.1.0/24"
pat dastaddr "10.1.0.0/24"
set arcintf “ports®
sat datintf “overlay"
set service “ALL"
sat packet-duplication force
next
end

branchl_fgt # diagnose sya adwan zone
Zone SASE index=2
mapbers (0) :
Lone overlay index=4
mambers(3): 19(T_INET 0 _0) 20(T_INET_1 0) 21(T_MPLS 0)
Zone underlay index=3
membera(2): 3(portl) 4(pore2)
fone virtual-wan-link index=1
mambars (0) :

21665 port5 im 10.0.1.101 -> 10.1.0.7: icmp: echo request
275788 T_INET 0_0 out 10.0.1.101 -> 10.1.0.7: icmp: echo request
275790 T_INET_1 0 out 10.0.1.101 -> 10.1.0.7: icmp: echo requeat
275801 T_MPLS 0 our 10.0.1.101 -> 10.1.0.7: icmp: echo request
278365 T_INET 1 0 in 10.1.0.7 => 10.0.1.101: icmp: echo zeply

218553 portS ocut 10.1.0.7 => 10,0.1.101: icmp: eche reply

s e e e

Exhibit B

3.804431 T_INET 1 0 in 10.0.1.101 -» 10.1.0.7: lcmp: echo request
3.874630 port5 out 10.0.1.101 => 10.1.0.7: icmp: echo requeat
3.874895 T INET 0 0 in 10.0.1.101 => 10.1.0.7: icap: scho regquast
3.875125 T MPLS 0 im 10.0.1.101 -> 10.1.0.7: lemp: echo request
3.875054 poreS in 10.1.0.7 => 10.0.1.101: icmp: echo reply
3.875308 T_INET 1 0 ocut 10.1.0.7 => 10.0.1.101: lcmp: echo reply

Exhibit A shows the packet duplication rule configuration, the SD-WAN zone status output, and the sniffer output on FortiGate acting as the sender. Exhibit B

shows the sniffer output on a FortiGate acting as the receiver.

The administrator configured packet duplication on both FortiGate devices. The sniffer output on the sender FortiGate shows that FortiGate forwards an ICMP

echo request packet over three overlays, but it only receives one reply packet through T_INET_1_0.
Based on the output shown in the exhibits, which two reasons can cause the observed behavior? (Choose two.)

A. On the receiver FortiGate, packet-de-duplication is enabled.

B. The ICMP echo request packets sentover T_INET_0 0 and T_MPLS_0 were dropped along the way.
C. The ICMP echo request packets received over T_INET_0_0 and T_MPLS_0 were offloaded to NPU.

D. On the sender FortiGate, duplication-max-num is set to 3.

Answer: AD

NEW QUESTION 29
Exhibit A —
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Exhibit A shows the system interface with the static routes and exhibit B shows the firewall policies on the managed FortiGate.

o P Al

Based on the FortiGate configuration shown in the exhibits, what issue might you encounter when creating an SD-WAN zone for portl and port2?

A. portl is assigned a manual IP address.

B. portl is referenced in a firewall policy.

C. port2 is referenced in a static route.

D. portl and port2 are not administratively down.

Answer: B

NEW QUESTION 31

What three characteristics apply to provisioning templates available on FortiManager? (Choose three.)

A. You can apply a system template and a CLI template to the same FortiGate device.
B. A CLI template can be of type CLI script or Perl script.

C. A template group can include a system template and an SD-WAN template.

D. A template group can contain CLI templates of both types.

E. Templates are applied in order, from top to bottom.

Answer: BDE

Explanation:

According to the FortiManager Administration Guide, provisioning templates are used to configure FortiGate devices in a consistent and efficient way. There are
different types of templates, such as system, IPsec, SD-WAN, certificate, and CLI templates. Some characteristics of provisioning templates are:

? You can apply a system template and a CLI template to the same FortiGate device, as long as they do not have conflicting settings1.

? A CLI template can be of type CLI script or Perl script. A CLI script template contains FortiOS CLI commands, while a Perl script template contains Perl code that

can generate FortiOS CLI commands2.

? A template group can include a system template and an SD-WAN template, as well as other types of templates. A template group is a collection of templates that

can be applied to multiple devices at once3.

? A template group can contain CLI templates of both types, as long as they do not have conflicting settings2.

? Templates are applied in order, from top to bottom. The order of the templates in a template group determines the order in which they are applied to the

devices3.

NEW QUESTION 34
Which two conclusions for traffic that matches the traffic shaper are true? (Choose two.)

# diagnose firewall shaper traffic-shaper list name VolP Shaper
name VolP_ Shaper

maximum-bandwidch 6250 EB/sec

guaranteed-bandwidth 2500 KB/sec

current-bandwidth 93 EB/sec

prioricy 2

overhead 0

tos L

packets dropped 0

bytes dropped 0O

A. The traffic shaper drops packets if the bandwidth is less than 2500 KBps.
B. The measured bandwidth is less than 100 KBps.
C. The traffic shaper drops packets if the bandwidth exceeds 6250 KBps.

D. The traffic shaper limits the bandwidth of each source IP to a maximum of 6250 KBps.
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Answer: BC

NEW QUESTION 36
Which diagnostic command can you use to show the configured SD-WAN zones and their assigned members?

A. diagnose sys sdwan zone

B. diagnose sys sdwan service
C. diagnose sys sdwan member
D. diagnose sys sdwan interface

Answer: C

NEW QUESTION 39
What are two common use cases for remote internet access (RIA)? (Choose two.)

A. Provide direct internet access on spokes
B. Provide internet access through the hub
C. Centralize security inspection on the hub
D. Provide thorough inspection on spokes

Answer: BC

Explanation:

* B. Provide internet access through the hub: This involves routing branch or remote office internet traffic through a central hub, ensuring consistent security
policies and possibly better management of network resources.

* C. Centralize security inspection on the hub: With this approach, all internet-bound traffic from various spokes is inspected at the hub, leveraging centralized
security mechanisms for thorough inspection and policy enforcement.

NEW QUESTION 40

Which SD-WAN setting enables FortiGate to delay the recovery of ADVPN shortcuts?
A. hold-down-time

B. link-down-failover

C. auto-discovery-shortcuts

D. idle-timeout

Answer: A

NEW QUESTION 41
Refer to the exhibits. Exhibit A -
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Edit Traffic Shaping Policy
P Version m 1Pvé
Mame Limit_YouTube
Status m Disable
Comments
y

NIIEE
i Traffic Matches:
Source Internet Service
Source Address & LAM-net (=]
Source User +
Source User Group +
Destination Internet Service
Destination Address Bl (]
Schedule +
Service @ ALL Q
Application o YouTube o
Application Category +
Application Group +
URL Category +
Type Of Service OO0
Type Of Service Mask Onen
Then:
Acton Assien G
Qutgoing Interface & underlay Q
Shared Shaper = |oy-priority a
Reverse Shaper D low-priority n
Per-1P Shaper L
Differentiated Services
Differentiated Services Reverse
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Exhibit A shows the traffic shaping policy and exhibit B shows the firewall policy.
The administrator wants FortiGate to limit the bandwidth used by YouTube. When testing, the administrator determines that FortiGate does not apply traffic
shaping on YouTube traffic.
Based on the policies shown in the exhibits, what configuration change must be made so FortiGate performs traffic shaping on YouTube traffic?

A. Destination internet service must be enabled on the traffic shaping policy.
B. Application control must be enabled on the firewall policy.
C. Web filtering must be enabled on the firewall policy.

D. Individual SD-WAN members must be selected as the outgoing interface on the traffic shaping policy.

Answer: C

NEW QUESTION 44

Which two protocols in the IPsec suite are most used for authentication and encryption? (Choose two.)
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A. Encapsulating Security Payload (ESP)
B. Secure Shell (SSH)

C. Internet Key Exchange (IKE)

D. Security Association (SA)

Answer: AC

NEW QUESTION 48
Refer to the exhibit.

config system sdwan
set fail-detect enable
set fail-alert-interfaces "ports"
config health-check
edit "Level3 DNS"

set members 1 2
next
edit "HQ"

set membesrs 3

next
end

end

set update-cascade-interface enable

set update-cascade-interface enable

Based on the exhibit, which action does FortiGate take?

A. FortiGate bounces port5 after it detects all SD-WAN members as dead.

B. FortiGate fails over to the secondary device after it detects all SD-WAN members as dead.

C. FortiGate brings up port5 after it detects all SD-WAN members as alive.
D. FortiGate brings down port5 after it detects all SD-WAN members as dead.

Answer: A

NEW QUESTION 51

The SD-WAN overlay template helps to prepare SD-WAN deployments. To complete the tasks performed by the SD-WAN overlay template, the administrator must

perform some post-run tasks. What are three mandatory post-run tasks that must be performed? (Choose three.)

A. Create policy packages for branch devices.
B. Assign an sdwan_id metadata variable to each device (branch and hub}.

C. Configure routing through overlay tunnels created by the SD-WAN overlay template.

D. Assign a branch_id metadata variable to each branch device.
E. Configure SD-WAN rules.

Answer: ABC

NEW QUESTION 54

Which two statements describe how IPsec phase 1 main mode id different from aggressive mode when performing IKE negotiation? (Choose two.)

A. A peer ID is included in the first packet from the initiator, along with suggested security policies.

B. XAuth is enabled as an additional level of authentication, which requires a username and password.
C. Three packets are exchanged between an initiator and a responder instead of six packets.

D. The use of Diffie Hellman keys is limited by the responder and needs initiator acceptance.

Answer: AC

NEW QUESTION 55
Refer to the exhibits. Exhibit A -
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Edit Performance SLA

Name Level3_DNS

IP Version IPvé

Probe Mode Passive Prefer Passive

Protocol I rceecHO UDPECHO HTTP TW

4221

4222
Participants All SD-WAN Members

2 Entries)
Enable Probe Packets [ §
SLA Targets ©

Link Status
Interval 500 - Milliseconds
Failure Before Inactive 3 v (max 3600)
Restore Link After 2 - max 34600)
Action When Inactive
Update Static Route &
Cascade Interfaces a

Exhibit B -

branchl_fgt # diagnose sys sdwan membsr | gQrop port
Mamberi(l): interface: portl, flags=0x0 , gateway: 192.2.0.2, priorzity: O 1024, weight: O
Menber(2) : interface: port?, flags=0x0 , gateway: 192.2.0.10, prieozity: O 1024, welight: 0

branchl_fgt # get router info routing-table all | grep poEt
g 0.0.0.0/0 [1/0] via 192.2.0.2, porel

[1/0] via 192.2.0.10, port2
B.8.8.8/32 [10/0] wia 192.2.0.11, port2
10.0.1.0/24 is directly connsctad, ports
172.16.0.0/16 [10/0) wia 172.16.0.2, portd
172.16.0.0/29 is directly connected, portd
192.2.0.0/2% la directly connected, portl
192.2.0.8/29 is directly connected, portl
152.168.0.0/24 1a dirsctly connscted, portld

0O 0 W0 e

branchl fgt # diagnose sy= sdwan health-check atatus Levell DNS

Health Check (Levell DNS):

Segi(l portl): statedfalive), packec=-loss{0.000%) latency(l.919), dicter(0.137), bandwidth-
up{10238), bandwidth-dw{l0238), bandwidth-bi(20476) ala map={x0

Seg(d portl): state(alive), packec-loss(0.000%) latency(l.S508), jitter(0.101), bandwidth-
[ up (10248), bandwidth-dw(102358) , hﬂﬂldbh-bll?@l"ﬂ sla mapelnl

Exhibit A shows the SD-WAN performance SLA and exhibit B shows the SD-WAN member status, the routing table, and the performance SLA status.

If port2 is detected dead by FortiGate, what is the expected behavior?

A. Port2 becomes alive after three successful probes are detected.

B. FortiGate removes all static routes for port2.

C. The administrator manually restores the static routes for port2, if port2 becomes alive.
D. Host 8.8.8.8 is reachable through portl and port2.

Answer: B

Explanation:

This is due to Update static route is enable which removes the static route entry referencing the interface if the interface is dead

NEW QUESTION 58
Refer to the exhibit.
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config router bgp
set as 65000
set router-id 10.1.0.1
set ibgp-multipath enable
set additional-path enable
set additional-path-select 3
config neighbor-group
edit "Branches_ INET 0"
set interface "T_INET O O"
set remote-as 65000
set update-source "T_INET_0O_0O®
next
edit "Branches INET 1"
set interface "T_INET 1 0"
set remote-as 65000
set update-source "T_INET 1 0®
next
edit "Branches MPLS"
set interface "T_MPLS 0"
set remote-as 65000
set update-source "T MPLS 0"
next
end
config neighbor-range
edit 1
set prefix 10.201.1.0 255.255.255.0
set neighbor-group "Branches_ INET 0°
next
edit 2
set prefix 10.202.1.0 255.255.255.0
set neighbor-group "Branches INET 1"
next
edit 3
set prefix 10.203.1.0 255.255.255.0
set neighbor-group "Branches MPLS"
next
end

_end

The exhibit shows the BGP configuration on the hub in a hub-and-spoke topology. The administrator wants BGP to advertise prefixes from spokes to other spokes
over the IPsec overlays, including additional paths. However, when looking at the spoke routing table, the administrator does not see the prefixes from other

spokes and the additional paths.

Based on the exhibit, which three settings must the administrator configure inside each BGP neighbor group so spokes can learn other spokes prefixes and their

additional paths? (Choose three.)

A. Set additional-path to send

B. Enable route-reflector-client

C. Set advertisement-interval to the number of additional paths to advertise
D. Set adv-additional-path to the number of additional paths to advertise

E. Enable soft-reconfiguration

Answer: ABD

NEW QUESTION 59

What is the route-tag setting in an SD-WAN rule used for?

A. To indicate the routes for health check probes.

B. To indicate the destination of a rule based on learned BGP prefixes.
C. To indicate the routes that can be used for routing SD-WAN traffic.
D. To indicate the members that can be used to route SD-WAN traffic.
Answer: B

NEW QUESTION 62
Refer to the exhibit.
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Create New SD-WAN Interface Member

sequence Number 1

Interface Member

5D-WAN Zone & virtual-wan-link .
Gateway IP 0.0.00

Cost 0 -
Status a

Priority 0

Advanced Options >

Which two SD-WAN template member settings support the use of FortiManager meta fields? (Choose two.)

A. Cost

B. Interface member
C. Priority

D. Gateway IP

Answer: BD

NEW QUESTION 64

Which type statements about the SD-WAN members are true? (Choose two.)
A. You can manually define the SD-WAN members sequence number.

B. Interfaces of type virtual wire pair can be used as SD-WAN members.

C. Interfaces of type VLAN can be used as SD-WAN members.

D. An SD-WAN member can belong to two or more SD-WAN zones.

Answer: AC

Explanation:

SD-WAN members can be manually ordered by changing their sequence number (A), which allows administrators to prioritize the interfaces according to the
routing requirements. Also, VLAN interfaces can be used as SD-WAN members (C), providing flexibility in network design and the use of existing VLAN

infrastructure within the SD-WAN setup.

NEW QUESTION 65
Refer to the exhibit.
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Two hub-and-spoke groups are connected through a site-to-site IPsec VPN between Hub 1 and Hub 2.
Which two configuration settings are required for Toronto and London spokes to establish an ADVPN shortcut? (Choose two.)

A. On the hubs, auto-discovery-sender must be enabled on the IPsec VPNs to spokes.
B. On the spokes, auto-discovery-receiver must be enabled on the IPsec VPN to the hub.
C. auto-discovery-forwarder must be enabled on all IPsec VPNs.

D. On the hubs, net-device must be enabled on all IPsec VPNs.

Answer: AB

NEW QUESTION 68

What are two advantages of using an IPsec recommended template to configure an IPsec tunnel in a hub-and-spoke topology? (Choose two.)

A. VPN monitor tool provides additional statistics for tunnels defined with an IPsec recommended template.
B. FortiManager automatically installs IPsec tunnels to every spoke when they are added to the FortiManager ADOM.
C. IPsec recommended template guides the administrator to use Fortinet recommended settings.

D. IPsec recommended template ensures consistent settings between phasel and phase2

Answer: BC
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Explanation:

According to the SD-WAN 7.2 Study Guide, IPsec recommended templates are designed to simplify the configuration of IPsec tunnels in a hub-and-spoke
topology. They have the following advantages:

? FortiManager automatically installs IPsec tunnels to every spoke when they are added to the FortiManager ADOM. This reduces the manual effort and ensures
that all spokes have the same configuration.

? IPsec recommended template guides the administrator to use Fortinet recommended settings, such as encryption algorithms, key lifetimes, and dead peer
detection. This ensures optimal performance and security of the IPsec tunnels.

NEW QUESTION 71
Which two interfaces are considered overlay links? (Choose two.)

A. LAG

B. IPsec
C. Physical
D. GRE

Answer: BD

NEW QUESTION 74
Refer to the exhibit.

ike O:T_INET 0 _0:214: received Informational request

ike 0:T INET 0 0:214: processing motify type SHORTCUT QUERY

ike 0:T_INET 0 0: recv shortcut-gquery S0E5T61862601467474
0740500817 fbd1 Te/0000000000000000 192.2.0.1 10.0.1.101->10.0.2.101 psk 64 ppk 0 ttl 32
nat U ver 2 mode U

ike O:T_INET 0: 1if 20 10.0.1.101=->10.0.2.101 route lookup oif 20 T_INET O gwy
10.201.1.1

ike 0:T_INET 0 _1: forward shortcut-query S065761962601467474

07405008 £71bd] T/ 0000000000000000 192.2.0.1 10.0.1.101->10.0.2.101 pak &4 ppk 0 £tl 31
ver 2 mode 0, ext-mapping 1582,2.0.1:500

Which statement about the role of the ADVPN device in handling traffic is true?

A. This is a spoke that has received a query from a remote hub and has forwarded the response to its hub.
B. Two hubs, 10.0.1.101 and 10.0.2.101, are receiving and forwarding queries between each other.

C. This is a hub that has received a query from a spoke and has forwarded it to another spoke.

D. Two spokes, 192.2.0.1 and 10.0.2.101, forward their queries to their hubs.

Answer: C

NEW QUESTION 75
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